Forms Reports
Recurso (FC1|10 FC2| 5 FC3| 2 RC1( O RC2| 10 RC3| 5 SC1| 4
R1 4110(40| 10| 5|50 25| 2|50 3 0] O 8] 10| 80| 19| 5 95| 4|4
R2 31030 11| 5 (55| 20f 2 |40 3| of O] 11| 10| 110 25| 5 | 125 3|4
R3 4(10|40| 10| 5|50/ 20| 2|40 3| of 0] 13| 10| 130 23| 5 | 115 4| 4

R1 50 80 95
R2 30 40
R3
[ Tiempoenhoras por herramientay complejidad
Forms Reports

Recurso (FC1|10 FC2| 5 FC3| 2 RC1( O RC2| 10 RC3| 5 SC1| 4
R1 4] Ol O] 104 |40( 25(0| O 3 0] O 8 9 72| 19| 5 95| 4]0
R2 3/10(30f 11({ 0| O] 20f 2|40 3| of 0] 11] 1 11 25| O of 3|4
R3 4] Ol 0] 10[1]10f 20{0| O 3] 0] 0] 131 O of 23] 0 of 4|0

R1 40 72 95
R2 30 40 11
R3 10
 solucénDiegoTomes
Forms Reports

Recurso |FC1|10(10|FC2( 5|5 |FC3({2|2|RC1|0|0|RC2| 10| 10 |RC3| 5 [ 5 |SC1| 4
R1 4( 6(24| 10{2]20| 25|/0]| O 3l of O 8| 4 32| 19| 2 38| 41
R2 3| 3( 9] 12{1(11] 20[1 (20 3| of 0] 11| 3 33| 25( 2 50| 32
R3 4( 1| 4| 10( 2]20| 20| 1|20 3] of o] 13| 3 39| 23 1 23| 41

R1 24 20 0 32 38
R2 9 11 20 33 50
R3 4 20 20 39 23

Forms Reports
Recurso [Fc1{10[10[Fc2| 5|5 |Fc3| 2|2 |rRci|o0|0[Rc2|[ 10] 10 [RC3| 5 | 5

sc1| 4




4

95

0

95

4

5

5 |SC1

95

95

4

19

80

0f 23] 0

80

10

0

8
11
13

3

3] 0 O
31 0 O

0

0

40

Reports
0O|O0|RC2| 10| 10 [RC3| 5

5

5 |SC1
57

25
23

57
25
23

4

19

80

80

10

8
11
13

3

3] 0 O
31 0 O

0
0

40

Reports
0O|O0|RC2| 10| 10 [RC3| 5

3
1
1

5 |SC1

115

19
25
23

48

22

26

48
22

26

6
2
2

8
11
13

3

3] 0 O
31 0 O

0l 20| 2|40
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4 0] 0] 10 5|50] 25| 0

311030 11{ O

4 0] 0] 10| O
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Forms
FC1|10|10|FC2| 5| 5(FC3| 2| 2 |[RC1

0
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0O|O0|RC2| 10| 10 [RC3| 5

0

19
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4 0] 0] 10 3]30] 25| 0
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FC1|10|10|FC2| 5| 5(FC3| 2| 2 |RC1
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10[ 2 |20] 25| 0

11( 1|11} 20| 1|20
10( 2 120] 20| 1|20
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Recurso

R1

R2
R3

R1

R2
R3

Forms
FC1|10|10|FC2| 5| 5(FC3| 2| 2 |[RC1

0l 20| 0

0l 20| 2|40

4 0] 0] 10 5]50| 25| 0

311030 11{ 0

4 0] 0] 10| O
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R1

R2
R3




R1 0 50 0 80 0
R2 30 0 0 0 0
R3 0 0 40 0 115




SQLy PL/SQL

SC2

00

SC3
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16
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SQLy PL/SQL
SC2| 8 SC3( 20
Of 121 0| Of 15|/ O 0
12| 10 8 (80| 12 3 36
O 10| 0| Of 12| 17| 204

627

207

12

80

36

209

204

214

SQLy PL/SQL
4SC2| 8| 8|SC3| 20| 20
4 12| 2 (24| 15| 6 90
6| 10| 2|20| 12| 7 84
4 10( 4 [40] 12| 7 84

630

SQLy PL/SQL

[a|sc2[s|8]sc3][20] 20

4 24 90| 232
6 20 84| 233
4 40 84| 234
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rcastro

dtorres Dificil de traducir



0f 121 0| Of 15| O 0
12| 10( 8 (80| 12| O 0
0 10) 0| Of 12| 20| 240

sQLy PL/sQL
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0 0 0f 225
12 80 0f 162
0 0 240| 240
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sQLy PL/sQL
a]sc2[ s8] 8[sc3]20] 20
4] 12[ 2]24] 15/ 4 | e0
6| 10 3]30] 12[ 8 | 96
4] 10[ 3 [30] 12 8 | 96

0 0 0f 205
12 40 120| 213
0 40 120| 210

628

sQLy PL/sQL
a]sc2[ s8] 8[sc3]20] 20
ol 12[o] of 15] 6 | 90
12| 10[ 8[80] 12] 8 | 96
o| 10lof o 12 6 [ 72

4 24 60| 225
6 30 96| 222
4 30 96| 231
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jdholguin

jcgomez

jjmina

Facil de traducir

Dificil de traducir

Facil de traducir



0 0 90| 220
12 80 96| 218
0 0 72| 227
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madelgado



